i

el
58
J|J

32x 53

©)

18
23 x 32

4
15

21
22 %7

33

110

32x 53




e

tlo

RHEASLE @ A s o o e

0.37 < 0.a < 0.46

0.37 = 0.3777- - -
0.a =0.aaa---

Ta=4

0.46 = 0.464646 - - -




@ 9 ®)18 @ 90 ® 99

D 3

90




olJ

#4157} ok ek,

© 32 A7k ot

@ -1

oy

2

o}
L ok %
Mm o) oF
o) m %2
wilem | SH
O @ O

@ 27 @3711 @ 47Y ® 57

@ 171

<k
¢ 4
P oo

o

©, ©, ®= 37H°|t}.




5 1o gt A%, bet @ a4 bl S

@ 7 3)10 @ 13 ® 14




@ 100x — x @ 1000x — x ® 100x — 10x
@ 1000x — 100x ®)1000x — 10x

B

10002=235,3535+
-) 10z= 2.3535-
9902=233

w2hA 3 1000x — 10x ©]Th.




o2 8 271722 AR AEd 2 dSd o o] HA o] gk
A2

® 0.453 @ 0453 ® 0.453

@0.453 ® 0.4530

B ~

@ 0.453

@ 0.45353 - - -

® 0.4533- -

@ 0.453453 - - -

® 0.4530530 - - -

OJEZ Q>@>B>® > O ot}




8. of® Adse] 232 FolloF & AL 228 ALY A7t 027
A7t ol o] A4S kw7

s @ @10 @1 ©12

B 1
ol ZAASFE x2t & uf 22 > 220|822
XX22-xx22=02
20 22 2
9 10" T 10
g 9] 902 FotH
200x — 198x = 18
2x =18

Lx=9




L o) 0! o
%° oF oF o
© O ©




